AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B4XR-A witH 15HP ELECTRIC MOTOR
CAT EAG3 (FAEM)

5864 6015 6214 6184 6246 5931 Electric Motor Complete 400/690 V - 8692 -

i 78037 5581 5841 ROS2 ROT3

R0OS1 RO082 R056 RO060

RO6L

6209 ¢339 353 6035 6239 6301 R092 9534 9539 8686 6296
6340 5214

Part . I Part i I
Number Description Retail price Number  Qty Description Retail price

—

5581 1 Pump Casing B4XR-A $3,107 6239 8 Hex. Head Screw M10x25 $4
5681 1 Impeller G 1081/D $778 6241 4 T.E. Screw M 10x30 $2
5841 1 Bracket B 3075/1 $949 6246 4 T.E. Screw M 12x55 $7
5864 1 Valve Body B4XR-A $570 6263 7 OEB Screw M 10x30 $2
5868 2 Counterweight B4XR-A $18 6301 4 Hex. Head Bolt M12x55 $13
5931 1 Flange B4XR-A G 1083 $139 6325 1 Key B 6x6x20 $5
6031 1 Flex. Gasket G 1089 $13 6339 1 Mech. Seal 25-47-14 $43
6035 2 Flex. Gasket B 1056 $18 6353 1 Counterface 27-50-10 $30
6053 1 OR 4125 (31.34x3.53) $4 6841 1 Rivet 6.5x20 $4
6104 1 Check Valve G 1085 $95 7135 4 Washer 10x18x2 $4
6161 1 Washer D.7x75x2.5 $11 7942 4 Zinc Nut M 10x1.5 $2
6178 1 Washer B 2901/2 $5 8686 2 Base Elec. Motor $154
6184 1 Flex. Washer 41x50x2 $7 8692 1 Motor 12.5 HP 400/690V. $4,540
6209 1 Conical Tap ¥4" Gas $6 F476 1 Nut M12x1.75 $14
6214 1 Conical Tap 1¥4" Gas $26

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST GMP/JUN 10/1



